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Master of Arts (Economics) 4th Semester
1059

ECONOMICS OF GROWTH AND DEVELOPMENT-II
Paper: MAECO-402 (In all Mediums)

Time Allowed : Three Hours] [Maximum Marks: 80
Note :— Attempt FIVE questions in all, including question

No. I which is compulsory and selecting ONE question

from each unit.

I. Write short notes on any TEN of the following in about

25-30 words each :

(i) Conceptualize occupational structure.

(ii) Composition of Gross Domestic Product.

(iii) Augmented Kuznets' curve.

(iv) Role of Human Capital in economic development.

(v) Meaning of constitutional wage.

(vi) Interdependence of agriculture and industry.

(vii) Differentiate between forward and backward linkage.

(viii)Meaning of unbalanced growth.
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(ix) Short note on Vent for surplus' theory. p

(x) What do you understand by Portfolio Investment ?

(xi) Trends in Foreign Direct Investment (FDI).

(xii) Advantages of international trade,

(xiii) Choice of Economic System.

(xiv) Conditions for Efficiency of competitive markets,

(xv) Meaning of State failure. 10x2=20

UNIT—I

II. Give arguments to justify structural changes which accompany

economic development of a modern economy. 15

III. Explain Kuznet's inverted U-hypothesis. What has been the

empirical evidence on this count ? 9,6

UNIT-II

IV. Critically examine Harris-Todaro Model. 15

V Explain Rosenstein Rodan and Nurkse's views on Balanced

Growth. 5,10

UNIT—HI

VI. Outline the basic features of Multinational Corporations

(MNCs). How would you describe the role of MNCs in the

context of developing economies ? 7,8

VII. What are the obstacles in the flow of private foreign capital

to developing countries ? Suggest measures to stimulate this

type of capital. 8,7
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UNIT— TV

VJH. What do you mean by Market Failure ? Explain various reasons

for it. 5,10

DC. Comment on the role of the State in the economic development

of a developing country. 15
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